
 (GeV)
1t

~m
200 400 600 800

 (G
eV

)
10 χ∼

m

0

100

200

300

400

-310

-210

-110

1

10

210
CMS  (2L) (8 TeV)-1 (1L) + 19.7 fb-119.5 fb

W

 +
 m

1
0

χ∼

 =
 m

±

1χ∼m

b

 +
 m

W

 +
 m

1
0

χ∼

 =
 m

1t~m

1
0
χ∼ + W→

+
1χ
∼, +

1χ
∼ b →1t

~*, 1t
~ 1t

~ →pp 

1
0
χ∼

 + 0.25 m
1t

~ = 0.75 m±

1
χ∼

m

95
%

 C
L 

up
pe

r l
im

it 
on

 c
ro

ss
 s

ec
tio

n 
(p

b)

theoryσ 1 ±Observed 
experimentσ 1 ±Expected 

m
(�̃

0 1)
(G

eV
)

m( t̃1) (GeV)m( �̃±
1 ) = 0.75 m( t̃1) + 0.25 m( �̃0

1)


